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ABSTRACY

THE DH11 STATIC LOGIC TEST IS DESIGNED TO PROVIDE A MFANS
FOR TESTING THE CORRECT FUNCTION OF ALL READ/WRITE BITS
IN THE FOLLOWING DH11 REGISVERS:

DH11 SYSTEM CONTROL REGISTER

DH11 LINE PARAMETER REGISTER

OH11 BREAK CONTROL REGISTER

DH11 SILO STATUS REGISTER

IN ADDITION, TESTS ARE PROVIDED TO CHECK THE FUNCTION
OF THOSE BITS THAT ARE READ ONLY IN MAINTENANCE ™MOOE.

ALSO PROVIDEJ ARL TCSTS OF REGISTER ADDRESSABILITY,
AND OF THE FUNCTION OF MASTER CLEAR.

THE DIAGNOSTIC HAS BEEN WRITTEN SO THAT THE TESTING
?Fq%ﬂcg :UNCTION IS CONTAINED IN AN INDIVIDUAL
eST LOOP.

SEQ 2
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REQUIREMENTS

EQUIPMENT

PDP-11 FAMILY STANDARD COMPUTER WITH 8KW OF MEMORY
ASR-33 TELETYPE OR EQUIVALENT

DH11 ASYNCHRONOUS MULTIPLEXER

DM11 MAINTENANCE CARD INSTALLED

STORAGE

THE PROGRAM LOADS INTO 8KW QOF MEMORY

LOADING PROCEDURE

THE STANDARD PROCEDURE FOR LOADING ABSOLUTE BINARY TAPES
CAN TO BE USED, OR CAN BE USED WITH XXDP.

STARTING PROCEDURE

CONTROL SWITCH SETTINGS

AFTER PROGRAM LOAD (INITIAL PROCRAM START)
ALL CONSOLE SWITCHES DOWN

T0 MODIFY DEVICE VECTOR AND CONTROL REGISTER ADDRESSES
AFTER PROGRAM RESTART

SWO0=1

TO START PROGRAM AT SELECTED TEST AFTER PROGRAM RESTART
SWO1=1

STARTING ADDRESS

THE STARTING ADORESS FOR ALL TESTS IS 000200

THE RESTART ADDRESS FUR ALL TESTS IS 0002000

THE STARTING ADDRESS TO ENTER A SELECTED TEST IS 000200
PROGRAM AND/OR OPERATOR ACTION

INITIAL PROGRAM START

LOAD PROGRAM INTO MEMORY

LOAD ADDRESS 000200

CLEAR CONSOLE SWITCHES

PRESS START

THE PROGRAM WILL TYPE “DHil STATIC LOGIC TEST*

AND WILL THEN TYPE “VECTOR ADDRESS-" AND WAIT FOR AN
INPUT FROM THE TELETYPE KEYBOARD.

SEQ 3
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4.3.1.6

NOTE:

4.3.1.7

4.3.1.8

4.3.1.9

4.3.2.1
.3.2.2

F -

.3.3

.3.3.1
.3.3.2
.3.3.3
.3.3.4
.3.4

.3.4.1
.3.4.2
.3.4.3
.3.4.4

LI R . _ T T R R - S

4.3.4.5

4.3.4.6

NOTE:

TYPE IN THE ADDRESS OF THE RECEIVER INTERRUPT VECTOR
FOR THE DH11 TO BE TESTED FOLLOWED BY <CARRIAGE RETURN>

WORDS IN ANGLE BRACKETS, I.E. <CARRIAGE RETURN> MEAN THAT
THE TELETYPE KEY WITH THE NAMED FUNCTION SHOULD BE STRUCK

IF AN INCORRECT ADDRESS IS ENTERED, THE PROGRAM
WILL TYPE "?” AND WILL REPEAT THE SECOND MESSAGE OF 4.3.1.5

THE PROGRAM WILL TYPE “CONTROL REGISTER ADDRESS *
AND WAIT FOR AN INPUT FROM THE TELETYPE <EYBOARD

TYPE IN THE ADDRESS OF THE SYSTEM CONTROL REGISTER OF THE
DH11 TO BE TESTED FOLLOWED BY <CARRIAGE RETURN>

IF AN INCORRECT ADDRESS IS TYPED, THE PROGRAM WILL TYPE
“2" AND WILL THEN REPEAT THE MESSAGE OF 4.3.1.7

THE PROGRAM MILL TYPE “R"” TO INDICATE THAT IT IS
ABOUT TO START TESTING, AND THEN TESTING WILL BEGIN

PROGRAM RESTART WITH ALL SWITCHES DOWN
PERFORM 4.3.1.2 70 4.3.1.5

THE PROGRAM WILL TYPE “DH1l STATIC LOGIC TEST~
AND WILL THEN CONTINUE AS DESCRIBED IN 4.3.1.9

PROGRAM RESTART WITH SWQ0=1

LOAD ADDRESS 000200

SET SWO1=1

PRESS START

THE PROGRAM WILL PERFORM AS DESCRIBED IN 4.3.1.5 70 4.3.1.9
PROGRAM RESTART WITH SWO1=1

LOAD ADDRESS 000200

SET SWO01=1

PRESS START

THE PROGRAM WILL TYPE “DH1l STATIC LOGIC TEST*

AND WILL THEN TYPE *TEST PC-" AND WILL WAIT FOR AN INPUT
FROM THE TELETYPE KEYBOARD

TYPE IN THE ADDRESS OF THE TEST AT WHICH THE PROGRAM IS TO
BE STARTED FOLLOWED BY <CARRIAGE RETURN>

THE PROGRAM WILL TYPE R TO INDICATE THAT IT HAS STARTED
AND WILL START TESTING AT THE SELECTED TEST.

CARE MUST BE TAKEN WHEN THS FEATURE IS USED, SINCE

SEQ 4




p——

58
59
60
61
62

NOTE:

SEQ S

CZOHA-D MACRO V0O4.00 27-JUN-85 12:46:01 PAGE 4-1

“HERE IS NO PROTECTION AGAINST SELECTING AN ADDRESS THAT
IS IN THE MIDDLE Of A TEST

IF IT IS DESIRED TO LOOP ON THE TEST THAT IS SELECTED
SET SW14=1 BEFORE ENTERING THE TEST ADDRESS
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5.2
5.2.1

5.2.2

5.2.3

OPERATING PROCEDURE
OPERATIONAL SWITCH SETTINGS

SW15=1, HALT ON ERROR

SWi4=1, LOOP ON CURRENT TEST

SW13=1, SUPPRESS ERROR TYPEQUT

SWil1=1, INHIBIT ITERATIONS

SW10=1, ESCAPE TO NEXT TEST ON EXROR

SW09=1, FREEZE VARIABLE PARAMETER IN CURRENT TEST
SWOl=1, START PROGRAM AT SELECTED TEST

SW00=1, CHANGE PARAMETERS AT PROGRAM RESTART

SUBROUTINE ABSTRACTS
TRAPCATCHER (LOCATIONS 000000 000776)

THIS ROUTINE IS USED TO INTERCEPT UNEXPECTED INTERRUPTYS
AND TRAPS. THE AREA FROM 000000-000776 IS LOADED
WITH THE FOLLOWING SEQUENCE

72

776
0

IF AN UNEXPECTED INTERRUPT OR TRAP OCCURS, THE PROGRAM
WILL HALT WITH THE PC 2 GREATER THAN THE ADDRESS TO
WHICH THE PROGRAM TRAPPED. THE PROCESSOR STACK MAY

BE EXAMINED TO DETERMINE WHERE THE PROGRAM WAS WHEN THE
TRAP OR INTERRUPT OCCURED.

START  (PROGRAM INITIALIZATION)

THIS ROUTINE INITIALIZES ALL PROGRAM FLAGS AND COUNTERS,
TYPES THE PROGRAM TITLE MESSAGE, AND INPUTS THE VECTOR
AND CONTROL REGISTER ADDRESSES OF THE DH11 TO BE TESTED.

BEGIN (PROGRAM START AND RESTART)

THIS ROUTINE IS ENTERED IMMEDIATLY AFTER “START”

AND EACH TIME A PROGRAM PASS HAS BEEN COMPLETED.

THE ROUTINE SETS UP THE PROCESSOR STACK AND STATUS WORD
AND THEN TRANSFERS CONTROL TO THE TEST AT WHICH

TESTING WILL BEGIN. IF SWO1=0 WHEN THIS ROUTINE IS ENTERD
TESTING WILL START AT T1 (TEST 1). IF SWO1s1 WHEN

THIS ROUTINE IS ENTERED, TESTING WILL START AT THE PC
ENTERED FROM THE TELETYPE KEYBOARD.

O~ OO

SEQ 6
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5.2.4

5.2.5

5.2.6

-0P (END OF PASS)

THIS ROUTINE IS ENTERED ONCE PER PASS AFTER ALL TESTS
HAVE BEEN COMPLETED. THIS R™TINE TYPES THE MAINDEC
IDENTIFICATION CODE OF THE PROGRAM, CLEARS ERROR FLAGS
AND UPDATES THE PASS COUNT. IF THE PROGRAM WAS LOADED
UNDER ACT11 OR DDP, THE ROUTINE CHECKS FOR RETURN TO
THE ACT11 OR DDP MONITOR. IF THE PROGRAM IS NOT UNDER
MONITOR CONTROL, THE ROUTINE TRANSFERS TO BEGIN.

SCOPER (SCOPE LOOP AND ITERATION HANDLER)

THIS ROUTINE IS ENTERED EACH TIME A TEST IS COMPLETED.

THE ROUTINE CHECKS FOR THE FOLLOWING UPON ENTRY

A) IF SW10=), THE ROUTINE WILL TRANSFER TO THE NEXT TEST
IN SEQUENCE, AFTER CLEARING ERROR FLAGS.

B) IF SWil=1, THE ROUTINE WILL TRANSFER TO THE NEXT TEST
SEQUENCE, AFTER CLEARING ERROR FLAGS.

C) IF SW14=1, THE ROUTINE WILL LOOP ON THE CURRENT TEST
REGARDLESS OF THE ITERATION FOUNT.

IF NONE OF THE ABOVE IS TRUE, THE ROUTINE WILL ADD 1

TO THE COUNT OF TEST ITERATIONS, AND COMPARE THIS VALUE
TO THE NUMBER OF ITERATIONS THAT SHOULD BE PERFORMED.
IF THESE NUMBERS ARE EQUAL, THE ROUTINE WILL TRANSFER
TO THE NEXT TEST IN SEQUENCE. THE THE NUMBERS ARE NOT
EQUAL, THE TEST CURRENTLY IN PROGRESS WILL BE REPEATED.

SCOP1R (FREEZE ON CURRENT DATA)

THE CALL TO THIS ROUTINE FOLLOWS IMMEDIATLY AFTER THE

THE CALL TO THE ERROR HANDLER IN THOSE TESTS THAT HAVE
VARIABLE PARAMETERS. THIS ROUTINE IS ALWAYS ENTERED IN
THOSE TESTS, WHETHER OR NOT AN ERROR OCCURS.

IF SW09=1, THE ROUTINE WILL TRANSFER CONTROL BACK TO THE
TEST AT A POINT WHICH WILL ALLOW REPEATING THE FUNCTION
UNDER TEST CONTINUOUSLY WITH THE SAME DATA. IF THIS
OPTION IS SELECTED, THE ROUTINE "SCOPER” IS NEVER ENTERED
AND ITERATION COUNTS WILL NOT BE UPDATED.

SEQ 7
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5.2.7

5.2.8

ERRORS (ERROR HANDLER)
THIS ROUTINE IS ENTERED UPON ERROR DETECTION ONLY.

WITH ALL CONSOLE SWITCHES DOWN, THE ROUTINE PROCEDES AS FOLLOWS:

A)

8)

C)

D)

THE PC OF THE INSTRUCTION THAT CALLED THE ERROR HANDLER
IS ACCESSED THRU THE STACK, AND THEN THE EMT INSTRUCTION
ITSELF IS FETCHED., THE 8 LSB OF THE EMT

INSTRUCTION ARE THE ERROR CODE. THIS CODE IS

USED TO ACCESS A TABLE OF ERROR MESSAGES AND ERROR

DATA STORAGE LOCATIONS.

IF THE TEST THAI FAILED DID NOT FAIL PREVIQUSLY

DURING THIS PASS, A COMPLETE ERROR REPURT IS MADE

IF THE TEST THAT FAILED FAILED MOR THAT ONCE DURING

THE CURRENT PASS, ONLY THE DATA RELATING TO THE FAILUER
IS TYPED. IF SW13=1, NO ERROR TYPEOUT IS MADE.

THE ROUTINE NOW CHECKS FOR HALT ON ERROR. IF SW15=1
THE PROGRAM WILL HALT WITH THE PC OF THE CALL TO

THE ERROR ROUTINE IN RO. 1IF SW15=0, THE PROGRAM WILL
NOT HALT, BUT WILL CHECK FOR ESCAPE TO NEXT TEST.

IF SW10=0, THE ROUTINE WILL RETURN

TO THE TEST IN PROGRESS. IF SW10=1, THE ROUTINE WILL
ABORT THE CURRENT TEST, AND TRANSFER TO THE NEXT

TEST IN SEQUENCE, THRU THE ROUTINE “SCOPER”.

TRPSRV  (TRAP DECODE AND DISPATCH)

THIS ROUTINE DECODES THE 8 LSB OF THE TRAP INSTRUCTION
THAT CAUSED TH PROGRAM INTERRUPT, AND TRANSFERS CONTROL
TO THE ROUTINE THRU THE TABLE "TRPTAB" USING THE 8 LSB
OF THE TRAP INSTRUCTION AS AN OFFSET TO THE POINTER TO
THE ROUTINE TO BE ENTERED.

SEQ 8
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PROGRAM AND OR OPERATOR ACTION
PROGRAM START WITH ALL SWITCHES DOWN

REFER TO SECTIONS 4.3.1 AND 4.3.2 FOR INITIAL PROGRAM
BEHAVIOR.

AFTER "R” HAS BEEN TYPED BY THE PROGRAM, TEST EXECUTION
WILL BEGIN. EACH TEST WILL BE REPEATED A SELECTED NUMBER
OF ITERATIONS (SEE LISTING FOR EXACT NUMBER FOR EACH TEST)
AND THEN THE PROGRAM WILL PROCEED TO THE NEXT TEST.

WHEN ALL ITERATIONS HAVE BEEN COMPLETED, THE PROGRAM

WILL TYPE "CZDHA D" AND THEN RESTART TESTING AT TEST 1
(LOCATION T1 IN THE PROGRAM).

IF AN ERROR OCCURS, THE PROGRAM WILL TYPE AN APPROPRIATE
ERROR MESSAGE, AND THEN CONTINUE THE TEST IN PROGRESS.

PROGRAM START WITH SW00=1

THE PROGRAM WILL PERFORM AS DESCRIBED IN 4.3.1 AND 5.3.1
PROGRAM START WITH SW01=1

REFER TO SECTION 4.3.4 FOR INITIAL PROGRAM BEHAVIOR

TEST EXECUTION WILL START AT THE ADDRESS SPECIFIED
AND WILL CONTINUE AS DESCRIBED IN 5.3.1.2

AFTER "CZDHA-D" HAS BEEN TYPED, THE PROGRAM WILL
RESUME TESTING AT TEST 1

PROGRAM OPERATION WITH SWi5=1

SAME AS 5.3.1, EXCEPT THAT IN THE CASE OF AN ERROR,
THE PROGRAM WILL HALT AFTER THE ERROR TYPEQUT, AND

THE PC+2 OF THE CALL TO THE ERROR ROUTINE WILL BE
DISPLAYED IN RO.

PROGRAM OPERATION WITH SW13=1

SAME AS 5.3.1 EXCEPT THAT NO ERROR TYPEOUTS WILL OCCUR
PROGRAM OPERATION WITH SWii=i

SAME AS 5.3.1 EXCEPT THAT EACH TEST WILL BE REPEATED ONCE
ONLY

PROGRAM OPERATION WITH SW10=1
SAME AS 5.3.1, EXCEPT THAT IN THE CASE OF AN ERROR

THE CURRENT TEST WILL BE ABORTED, AND THE PROGRAM
WILL PROCEED TO THE NEXT TEST IN SEQUENCE.

SEQ 9
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5.3.8

6.1.1

6.2
6.2.1

6.2.2

6.3

6.3.1

6.3.2

(CONT'D)
PROGRAM OPERATION WITH SW14=1, OR SW09=1%

THESE FUNCTIONS ARE NORMALLY USED FOR TROUBLE SHOOTING.
SEE SECTION 6.3 FOR THEIR USE.

ERRORS
ERROR HALTS

THE ERROR MESSAGE FORMAT FOR ALL ERROR TYPEQUTS
IS AS FOLLOWS

PC+2 MESSAGE
HEADER (IF APPLICABLE)
DATA (IF APPLICABLE)

WHERE

PC+2 IS THE ADDRESS OF THE CALL TO THE ERROR HANDLER + 2
MESSAGE IS AN ASCII MESSAGE DESCRIBING (BRIEFLY) THE FAILURE
HEADER IS A DESCRIPTION OF THE DATA TO FOLLOMW

DATA IS OCTAL INFORMATION RELATING TO THE CAUSE OF THE FAILURE
IF THE SAME ERROR OCCURS IN A GIVEN TEST ON THE SAME

PASS, AND IF DATA IS ASSOCIATED WITH THAT ERROR, ONLY

DATA IS TYPE ON SUCCEEDING ERROR TYPEOUTS

IF NO DATA IS ASSOCIATED WITH THE ERROR
THE COMPLETE ERROR MESSAGE IS TYPED.

ERROR DESCRIPTIONS

SEE LISTING FOR DETAILS OF ERRORS
ERROR RECOVERY

SW15=0

IF THE PROGRAM IS RUN WITH SW15-0, NO OPERATOT ACTION IS
gsggIgED TO CONTINUE TESTING

IF THE PROGRAM IS RUN WITH SW15=1, TO CONTINUE TESTING
AFTER THE PROGRAM HAS HALTED, PRESS THE FROCESSOR
CONSOLE CONTINUE SWITCH

SCOPE LOOPING

TO SCOPE ON A SPECIFIC TEST, SET SW14=1 AND SWi3=1
THIS WILL CAUSE THE PROGRAM TO CONTINUOUSLY LOOP ON THE
SAME TEST, AND WILL CAUSE ALL ERROR TYPEOUTS 70 BE INHIBITED

TO SCOPE ON A SPECIFIC VALUE OF A PARAMETER WITHIN
A TEST, SET SW09=1 TO FREEZE THE DATA
(SEE LISTING FOR THOSE TESTS THAT INCORPORATE THIS FEATURE)

SEQ 10
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1
g 6. (CONT*D)
; 6.3.3 PROGRAM START TO SCOPE LOOP ON SELECTED TEST
g PERFORM SECTION 4.3.4 WITH SW14=}
g 7. RESTRICTIONS
{g 7.1 STARTING
%g THE DH11 TES7 CARD MUST BE INSTALLED
14 7.2 RUNNING
15
16 NONE
17
%g 8. MISCEL' ANEOUS
go 8.1 EXECUTION TIME
1
22 THE TIME FOR ONE PASS OF THE PROGRAM (END OF
23 TYPEOUT OF CZDHA-D TO END OF TYPEOUT OF CZDHA-D)
g; IS GIVEN FOR VARIOUS PROCESSORS IN THE TABLE BELOW
26 TIME
g; PROCESSOR
29 PDP-11/04
30 05
31 10
32 15
33 20
34 24
35 34
36 35
17 40
38 44
39 45
40 55
41 60
42 70
43 74
44 84
45

SEQ 11
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10.

PROGRAM DESTRIPTION

THIS PROGR/AA4 15 A LOW LEVFL TEST OF DH1l CONTROL
HEGISTERS.

THE PROGRAM BEGINS BY CRICXING THE ADDRESSABILITY OF
EACH DH11 REGISTER MWITHCUT CONCERN FOR ANY DATA CONTENT.
THE PURPOSE OF THESE TESTS IS TO VERFIY THAT THE ADDRESS
SELECTORS FOR THE VARIOUS REGISTERS ARE FUNCTIONING.

THE NEXT SET OF TESTS VERIFIES THAT EACH DH11 REGISTER
CAN BE MASTER CLESARED, AFTER ALL READ. LRITE BITS HAVE
BEEN SET TO 1. [r TS TEST DOES NOT VER.rY THAT ALL
BITS HAVE BEEM 5%’ ONLY THAT THEY HAVE BEEN CLEARED.

THE NEXT GROUP OF TESTS EXERCISES EACH READ/WRITE BIT
IN THE DH11 SYSTEM CONTROL REGISTER, IN BOTH NURMAL AND
MAINTENANCE MODE’> OF OPERATION. IN NORMAL MODE, EACH
READ/HWRITE BIT IS SET AND CLEARED, AND READ ONLY BITS
ARE CHECLKED FOR RERD ONLY FUNCTION.

IN MAINTENANCE MODS, THE BITS THAT ARE

READ ONLY IN NORMAL MODE ARE CHECKED FOR PEAD/WRITE OPERATION.

THE NEXT GRUUP OF TESTS CHECKS EACH READ/WRITE 8IT

OF THE DH1l LINE PARAMATER REGISTER, BREAK CONTROL REGISTER
AND SILO STATUS REGISTER FOR READ/WRITE CAPABILITY. EACH
BIT OF EACH REGISTER IS CHECKED IN AN INDIVIDUAL TEST LOOP.

THE NEXT GROUP OF TESTS CHECKS CLEARING OF A SINGLE
BIT IN EACH OF THE LINE PARAMETER, BREAK CONTROL AND
SILO STATUS REGISTERS WITH ALL OTHER READ/WRITE BITS

SET T0 1.

THE FINAL TWO TESTS VERIFY THAT A MOVE BYTE TO ONE BYTE
OF THE SYSTEM CONTROL REGISTER DOES NOT AFFECT THE OTHER BYTE
OF THE SYSTEM CONTROL REGISTER.

AFTER ALL TESTS HAVE BEEN COMPLETED, THE PROGRAM TYPES

"CZDHA-D“ AND RESTARTS THE SEQUENCE OF TESTING JUST DESCRIBED.

LISTING
]

SEQ 12
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; DHMAC-A - DHil MACRO LIBRARY
: COPYRIGHT 1985, DIGITAL EQUIPMENT CORP., MAYNARD, MASS. 01754

LIST ME
NLIST MC,MD,CND

~NOVB N -

bbb et b e
MDD
[« 3. JORY, Y

167
303

139

373

520 ; 3
563

595

607

652

664

691

712

743 ; CMS REPLACEMENT HISTORY

744

745
746 i %9 SKONETSKI 26-APR-1985 16:23:08 "FIXED TYPO CAUSING ASSEMBLY ERRORS*

747 ; *8 SKONETSKI 22-APR-1985 16:48:03 *TYPO ERROR IN VECTOR CHANGE CODE SOURCE FIXED*

TRA;ga ; *7 SKONETSKI 22-APR-1985 16:26:04 "ADDED CODE TO SET VECTORS FOR PWR FAIL, ERRORS, AND EMT
749 ; *6 SKONETSKI 22-APR-1985 14:22:35 *FIXED BRANCH ERROR IN END OF PASS ROUTINE*
750 ; *5 SKONETSKI 22-APR-1985 08:28:54 “FIXED BUG (AN OCTASC MACRO CALL WAS WRONG) ANC ADDED A

CLEAN END OF PASS

MESSAGE.
751 i »4 SKONETSKI 18-APR-1985 14:20:15 “ADDED SOFTWARE SWITCH REG SUPPORT, BUT UNTESTED*

752 ; *3 SKONETSKI 12-APR-1985 10:34:52 "FIXED PROBLEMS WITH SPURIOUS CR/LFS*
753 i *2 SKONETSKI 11-APR-1985 16:00:24 "ADDED NMACRO FROM SYSMAC.SML THAT SIZES FOR SOFTWARE SWI

TCH REGISTER"
754 ; #1 SKONETSKI 11-APR-1985 15:49:05 “LIBRARY FOR UH11 DIAGNOSTICS*
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N

00000¢

6 0C0000

100000
040000
20000
010000
004000
002000
001000
000400
000100
060040
000020
000010
000004
0000902
000001

LIST ME
<NLISY ™C,MD,CND
.HEADER t/1972,1978,1985/,t/DH11 STATIC LOGIC TEST/,t/CZDHA-D/

i STARTING PROCEDURE

;:LOAD PROGRAM

;:LOAD ADDRESS 000200

;PRESS START

;PROGRAM WILL TYPE DH11 STATIC LOGIC TEST

;PROGRAM WILL TYPE “VECTOR ADDRESS-"

:TYPE IN THE ADDRESS OF THE RECEIVER INTERRUPT VECTOR
:FOR THE DH11 TO BE TESTED, FOLLOWED BY <CARRIAGE RETURN>
:PROGRAM WILL TYPE “CONTROL REGISTER ADDRESS-*

:TYPE IN THE ADDRESS OF THE SYSTEM CONTROL REGISTER

;FOR THE DHil TO BE TESTED, FOLLOWED BY <CARRIAGE RETURN>
;PROGRAM WILL TYPE "R” TO INDICATE THAT TESTING HAS STARTED
;AT THE END OF A PASS, PROGRAM WILL TYPE “ CZDHA-D *

;AND THEN RESUM TESTING

.TJITLE CZDHA-D
.ENABLE ABS
.NLIST MC,MD,CND
LIST ME
.SYMBOLS

;SWITCH REGISTER OPTIONS

SW15=100000 :*1,HALT UGN ERROR

SW14+=40000 ;»1,LO00P ON CURRENT TEST

SW13=20000 :=1,INHIBIT ERROR TYPEOUT

SW12=10000

SW11=4000 :=1,INHIBIT ITERATIONS

Sk10=2000 i=1,ESCAPE TO NEXT TEST ON ERROR

SH09=1000 $=1,L00P WITH CURRENT DATA

SW08+400

SW06=100

SHO5=40

SW04 220

SW03=10

SW02=4

SHO1=2 sRESTART PROGRAM AT SELECTED TEST

SW00=1 sRESELECT VECTOR AND CONTROL REGISTER
:ADDRESS AFTER PROGRAM RESTART

StQ 14
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0
;REGISTER DEFINITIONS
000000 RO=%0 1GENERAL REGISTER
Q00001 Ri=sl 1GENERAL REGISTER
000002 R2=%2 :GENERAL REGISTER
000003 R3+%3 1GENERAL REGISTER
000004 R4 =4 ;:GENERAL REGISTER
000005 R5=#5 ;GENERAL REGISTER
000006 SP=%6 ;PROCESSOR STACK POINTER
000007 PC=%7 :PROGRAH COUNTER
:LOCATION EQUIVALENCIES
:SWR=177570 :CONSOLE SWITCH REGISTER
;LIGHTS=177570 ;PDP-11/45 DISPLAY REGISTER
177776 PS=177776 ;PROCESSOR STATUS WORD
021544 STACK=E\DCOD +200 ;START OF PROCESSOR STACK
: INSTRUCTION DEFINITIONS
005746 PUSH15P=5746 ;PECREMENT PROCESSOR STACK 1 WORD
005726 POP15P=5726 s INCREMENT PROCESSOR STACK 1 WORD
010046 PUSHRO=10046 :SAVE RO ON STACK
012600 POPRO=12600 ;RESTORE RO FROM STACK
024646 PUSH2SP=24646  ;DECREMENT STACK TWICE
022626 POP2SP=22626 : INCREMENT STACK TWICE
LMACRG HLT $A
ENT $A
ENDM WY
100000 B8IT15=100000
040000 BI714=40000
020000 B8IT13+20000
010000 8IT12=10000
004000 BIT11=4000
002000 8IT10=2000
001000 BIT09=1000
000400 BIT08=400
000200 BIT07=200
000100 BIT06=100
000040 BIT05=40
000020 BIT04=20
000010 BIT03=10
000004 BIT02=4
000002 BIT0122
000001 8IT00=1
1 000000 .CATCH

SEQ 15
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0 i TRAPCATCAER FOR ILLEGAL INTERRUPTS
¢0Q000 .=0
000200 .REPT 200
.*2 tUNEXPECTED TRAP TO THIS LOCATION
ENDR HALT :EXAMINE STACK TO FIND CAUSE
000000 000002 .+2 :UNEXPECTED TRAP TO THIS LOCATION
000002 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000004 000006 .2 ;UNEXPECTED TRAP TO THIS LOCATION
C00006 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000010 000012 .+2 :UNEXPECTED TRAP TO THIS LOCATION
000012 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000014 000016 .+2 iUNEXPECTED TRAP TQ THIS LOCATION
000016 000000 HALTY ;EXAMINE STACK TO FIND CAUSE
000020 000022 .+2 ;UNEXPECTED TRAP TO THIS LOCATION
000022 000000 HALT {EXAMINE STACK TO FIND CAUSE
000024 000026 .+2 ;UNEXPECTED TRAP TO THIS LOCATION
000026 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000030 000032 .ol tUNEXPECTED TRAP 70 THIS LOCATION
000032 000000 HALT :EXAMINE STACK TO FIND CAUSE
000034 000036 .e2 ;UNEXPECTED TRAP TO THIS LOCATION
000036 000000 HALT iEXAMINE STACK TO FIND CAUSE
000040 000042 .2 tUNEXPECTED TRAP TO THIS LOCATION
0C0042 000000 HALY ;EXAMINE STACK TO FIND CAUSE
000044 000046 .*2 ;UNEXPECTED TRAP TO THIS LOCATION
000046 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000050 000052 .+2 tUNEXPECTED TRAP TO THIS LOCATION
000052 000000 HALTY (EXAMINE STACK 7O FIND CAUSE
000054 000056 .2 sUNEXPECTED TRAP TQ THIS LOCATION
000056 000000 HALT ;EXAMINE STACK TC FIND CAUSE
000060 000062 .2 tUNEXPECTED TRAP TO THIS LOCATION
000062 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000064 000066 .*2 ;UNEXPECTED TRAP TO THIS LOCATION
000066 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000070 000072 .*2 sUNEXPECTED TRAP TO THIS LOCATION
000072 000000 HALY ;EXAMINE STACK TO FIND CAUSE
000074 000076 .2 sUNEXPECTED TRAP TO THIS LOCATION
000076 000000 HALT {EXAMINE STACK TO FIND CAUSE
000100 000102 .2 sUNEXPECTED TRAP TO THIS LOCATION
000102 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000104 000106 .02 ;UNEXPECTED TRAP TO THIS LOCATION
000106 000000 HALY tEXAMINE STACK TO FIND CAUSE
000110 000112 .42 UNEXPECTED TRAP TO THIS LOCATION
000112 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000114 000116 .o sUNEXPECTED TRAP TO THIS LOCATION
00011¢ 000000 HALT sEXAMINE STACK TO FIND CAUSE
000120 000122 .+2 ;UNEXPECTED TRAP TO THIS LOCATION
000122 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000124 000126 .+2 ;UNEXPECTED TRAP TO THIS LOCATION
000126 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000130 000132 .+2 ;UNEXPECTED TRAP TO THIS LOCATION
000132 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000134 000136 .*2 ;UNEXPECTED TRAP TQ THIS LOCATICHN
000136 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000140 000142 .42 sUNEXPECTED TRAP TO THIS LOCATION
000142 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000144 000146 .e2 tUNEXPECTED TRAP TO THIS LOCATION
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000146 000000 HALT {EXAMINE STACK TO FIND CAUSE
000130 000152 .+2 :UNEXPECTED TRAP TO THIS LOCATION
000152 000000 HALT ;EXAMINE STACK TO FIND CAUSE
Q00154 000156 .+2 sUNEXPECTED TRAP TO THIS LOCATION
000156 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000160 000162 .+2 sUNEXPECTED TRAP TO THIS LOCATION
000162 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000164 000166 .+2 tUNEXPECTED TRAP TO THIS LOCATION
c00166 000000 HALT ;EXAMINE STACK TC FIND CAUSE
000170 000172 .+2 tUNEXPECTED TRAP TO THIS LOCATION
000172 Q00000 HALT ;EXAMINE STACK TO FIND CAUSE
000174 000176 .+2 tUNEXPECTED TRAP TO THIS LOCATION
000176 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000200 000202 .2 tUNEXPECTED TRAP TO THIS LOCATION
000202 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000204 000206 .2 tUNEXPECTED TRAP YO THIS LOCATION
000206 000000 HALT tEXAMINE STACK TO FINO CAUSE
000210 000212 .2 ;UNEXPECTED TRAP TO THIS LOCATION
000212 000000 HALT ;EXAMINE STACK 7O FIND CAUSE
000214 000216 .2 tUNEXPECTED TRAP TO THIS LOCATION
000216 000000 HALT :EXAMINE STACK TO FIND CAUSE
000220 00222 .+2 tUNEXPECTED TRAP TO THIS LOCATION
00222 000000 HALT ;EXAMINE STACK TO FIND CAUSE
0C0224 000226 .*2 ;UNEXPECTED TRAP TO THIS LOCATION
0C0226 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000230 000232 .v2 sUNEXPECTED TRAP TO THIS LOCATION
000232 000000 HALT tEXAMINE STACK TO FIND CAUSE
000234 000236 .e2 {UNEXPECTED TRAP TC THIS LOCATION
000236 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000240 000242 .+2 tUNEXPECTED TPAP TO THIS LOCATION
000242 000000 HALT ;EXAMINE STACK YO FIND CAUSE
000244 000246 .*2 tUNEXPECTED TRAP TO THIS LOCATION
000246 000000 HALY tEXAMINE STACK TO FIND CAUSE
000250 000252 .2 :{UNEXPECTED TRAP TO THIS LOCATION
000252 000000 HALT sEXAMINE STACK TO FIND CAUSE
000254 000256 .+2 ;UNEXPECTED TRAP TO THIS LOCATION
000256 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000260 000262 .+2 stUNEXPECTED TRAP TO THIS LOCATION
000262 000000 HALT sEXAMINE STACK TO FIND CAUSE -
000264 000266 .*2 tUNEXPECTED TRAP TO THIS LOCATIONM
000266 000000 HALT sEXAMINE STACK TO FIND CAUSE
000270 000272 .+2 ;UNEXPECTED TRAP TO THIS LOCATION
000272 000000 HALT sEXAMINE STACK TO FIND CAUSE
000274 000276 .+2 JUNEXPECTED TRAP TO THIS LOCATION
000276 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000300 000302 e stUNEXPECTED TRAP TO THIS LOCATION
¢00302 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000304 000306 2 tUNEXPECTED TRAP TO THIS LOCATION
000306 000000 HALT ;EXAMINE STACK TO FIND CAUSE
000310 000312 Y] ;UNEXPECTED TRAP TO THIS LOCATION
000312 000000 HALT JEXAMINE STACK TO FIND CAUSE
000314 000316 .2 sUNEXPECTED TRAP TQ THIS LOCATION
0003216 000000 HALY ;EXAMINE STACK TO FIND CAUSE
000320 000322 Y ;UNEXPECTED TRAP TO THIS LOCATION
000322 000000 HALY ;EXAMINE STACK TO FIND CAUSE
000324 000326 . +2 :UNEXPECTED TRAP TO THIS LOCATION
000326 000000 HALT ;EXAMINE STACK 7O FIND CAUSE
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000330
000332
000334
000336
000340
000342
000344
000346
000350
000352
000354
000356
000360
000362
000364
000366
000370
000372
000374
000376
000400
000402
000404
0C04(5
000410
000412
000414
000416
000420
000422
000424
000426
000430
000432
000434
000436
000440
000442
000444
000446
000450
000452
000454
000456
000460
000462
000464
000466
000470
000472
000474
000476
000500
000502
000504
000506
000516

000332
000000
000336
000000
000342
000000
000346
000000
000352
000000
000356
000000
000362
000000
000366
000000
000372
000000
000376
000000
000402
000000
000406
000000
000412
000000
000416
0000620
000422
000000
000426
000000
000432
000000
000436
000000
000442
000000
000446
000000
000452
000000
000456
000000
000462
000000
000466
000000
000472
000000
0Cv476
000000
000502
000000
000506
000000
000512

iUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LUCATION
;EXAMINE STACK TO FIND CAUSE
1UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STHCK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
tEXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK T0 FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
tUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TQ THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOZATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
iUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TQO THIS LOCATION
{EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO “IND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION

SEQ 18
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000512
000514
000516
000520
000522
000524
000526
000530
000532
000534
000536
000540
000542
000544
000546
000550
000552
000554
000556
000560
000562
000564
000566
0C0570
000572
000574
000576
000600
000602
000604
00C606
000610
000612
000614
000616
000620
000622
000624
000626
000630
000632
000634
000636
000640
000642
000644
000646
000650
000652
000654
000656
000660
000662
000664
000666
000670
000672

000000
000516
000000
000522
000000
000526
000000
000532
000000
000536
000000
000542
000000
000546
000000
000552
000000
000556
+00000
000562
000000
000566
000000
000572
000000
000576
000000
000602
000000
000606
000000
000612
000000
000616
000000
000622
000000
000626
000000
000632
000000
000636
000000
000642
000000
000646
000000
000652
000000
000656
000000
000662
000000
000666
000000
000672
000000

HALT
. *2
HALT
.+
HALT
.42
HALT
.2
HALY
.2
HALT
.+2
HALT
.+2
HALT
.42
HALT
.+2
HALT
Y
HALT

:EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO FIND CAUSE
iUNEXPECTED TRAP TO THIS LOCATIOM
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
{EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
{UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
{EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TQO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
tUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TQ THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
{EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TGO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;:EXAMINE STACK TO FIND CAUSE

SEQ 19




]
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000674
000676
000700
000702
000704
000706
000710
000712
000714
000716
000720
000722
000724
000726
000730
000732
000734
000736
000740
000742
000744
000746
000750
0C0752
000754
000756
000760
000762
000764
000766
000770
000772
000774
000776
1 001000

000676
000000
000702
000000
000706
000000
000712
000000
000716
000000
000722
000000
000726
000000
000732
000000
000736
000000
000742
000000
000746
000000
000752
000000
000756
000000
000762
000000
000766
000000
000772
000000
000776
000000

.SETVEC

.+2
HALT
.+2
HALT
.+2
HALT
.42
HALT
.+
HALT
.42
HALT
.2
HALT
.42
HALT
.42
HALT
.42
HALT
.42
HALT
.42
HALTY
.42
HALT
.42
HALT
.2
HALT
.42
HALT
.42
HALT

;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK 7O FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK 10 FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK O FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TG FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK 7O FIND CAUSE
;UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE

SEQ 20

P
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0
000200 .=200
000200 000167 000600
1 000204 . TRPDEF
000204 TRPDEF
104400
000001
000204 TRPDEF
104401
000002
000204 TRPDEF
104402
000003
000204 TRPDEF
104403
000004
0€0204 TRPDEF
104404
000005
000204 TRPDEF
104405
000006
000204 TRPDEF
104406
000007
000204 TRPDEF
104407
000010
000204 TRPOEF
104410
000011
2 000046 .=46
3 000046 016610 LOGICAL
4 000052 .=*352
S 000052 040000 40000
6 .MACRO
7
8
9 .ENDM
10 000054 .START

: STANDARD INTERRUPT VECTORS
JMP START ;GO TO START OF PROGRAM

;DEFINITIONS FOR TRAP SUBROUTINE CALLS
iPOINTERS TO SUBROUTINES CAN BE FOUND STARTING
;AT LOCATION “TRPTAB*

SCOPE, t/SCOPE LOOP AND ITERATION HANDLER/

SC?PE-TRAP+Y ;SCOPE LOOP AND ITERATION HANDLER
Y=Y+

TYPE,+/TELETYPE OUTPUT ROUTINE/

TYPE=TRAP+Y sTELETYPE QUTPUT ROUTINE

Y=Yel

OCTASC,+/0CTAL TO ASCII CONVERSION/

0CTA§C-TRAP+Y ;OCTAL TO ASCIT CONVERSION
Y=Y

INSTR, t/INPUT ASCII STRING/

INSTR=TRAP +Y ; INPUT ASCII STRING

Y=Y+l

INSTER, t/STRING INPUT ERROR/

INSTER=TRAP+Y ; STRING INPUT ERROR

Y=Y+l

PARAM, t/CONVERT STRING 70O OCTAL, CHECK LIMITS/

PARAM=TRAP +Y :CONVERT STRING TO OCTAL, CHECK LIMITS
Y=Y+l

SAVOSP, t/SAVE RO-R5, PC/
SAVYOSP=TRAP.:+Y

YaYs]

RESOS, t/RESTORE RO-RS/
RE$0§'TRAP¢Y ;RESTORE RO-RS
YaYe+

SCOPEL,t/CHECK FOR FREEZE ON CURRENT DATA/

;SAVE RO RS, PC

SCOPE1=TRAP.Y ;CHECK FOR FREEZE ON CURRENT DATA
Y=Y+l

CODEM1

MOV DHSSR, DHSLR ;SET UP ADDRESS OF SILO
INgE DHSLR ;STATUS REGISTER HIGH BYTE
CODEM1

DHRVEC,3,4 ,0H5CR,0,177776,7,10,,.1

SEQ 21




SEQ 22
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0 001000 .=1000

;PROGRAM INITIALIZATION

;LOTK OUT INTERRUPTS

;SET UP PROCESSOR STACK

;SET UP POWER FAIL VECTOR
;CLEAR PROGRAM FLAGS AND COUNTS
:TYPE TITLE MESSAGE

IIF NB <>, ;DETERMINE HMEMORY SIZE
.IIF NB <>, ;SET UP TRACE TRAP RETURN
001000 177570 SHR: .WORD 177570 ; SWITCH DHSCR ADDRESS ; 4
001002 177570 LIGHTS: .WORD 177570 ; LIGHTS ; 4
;: 4
001004 012767 000340 176764 START: MOV #340,PS ;LOCK QUT INTERRUPTS
001012 012706 021544 MOV #STACK ,SP ;SET UP PROCESSOR STACK
001016 012702 000024 MOV #24 ,R2 ; POINT TO0 VECTOR AREA i 7
001022 012722 020110 MOV PPFAIL ,(R2)+ ;SET UP POWER FAIL TRAP i 7
001026 012722 000340 MOV #340, (R2)» ;:SERVICE AT LEVEL 7 ; 7
001032 012722 016750 MOV #ERRORS, (R2)« ;ERROR HANDLER : 7
001036 012722 000340 MOV 2340, (R2)+ ;SERVICE AT LEVEL 7 o
001042 012722 017162 MOV ®TRPSRV, (R2)+ ;GENERAL. HANDLER DISPATCH SERVICE ; 7
001046 NnN12712 000340 MOV 2340, (R2) ;SERVICE AT LEVEL 7 ; 8
0C1052 005067 017026 CLR STFLG ;:CLEAR TEST START FLAG
001056 005067 016762 CLR PASCNT ;CLEAR PASS COUNT
001062 005067 016760 CLR ERRCNT ;CLEAR ERROR COUNT
001061 005067 016750 CLR ERRFLG ;CLEAR ERROR FLAG
001072 005067 016744 CLR ERRFLG ;CLEAR LAST ERROR PC
001076 016746 176702 MOV 4, -(SP) ; PUSH TRAP VECTOR : 4
001102 016746 176700 MOV 6, -(SP) ; 4
001106 012767 001122 176670 MOV a1, 4 ;: SET UP TRAP VECTOR ; 4
001114 Q05777 177660 TST SSWR ; TEST SWITCH REGISTER ADDRESS : 4
ggiigg 000405 .8 BR 24 ;s IF SUCCESSFUL, LEAVE IT ALONE ; 4
: ; 4
001122 012767 000176 177650 MOV 2176, SHR ; POINT TO SOFT SWITCH DHSCR ;i 4
001130 005067 177€46 04 CLR iL.IGHTS ; O MEANS WE ARE NOT GOING TO USE LIGHTS
001134 : 1 S
001134 00572¢ 157 (SP)+ ; CLEAN UP STACK ; 4
001136 005726 18T (sP). ; 4
001140 012667 176642 MOV (SP)+, b : 4
001144 012667 176634 MOV (SP)+, 4 ; 4
001150 104401 020260 TYPE JMTITLE s TYPE TITLE MESSAGE
001154 005767 016722 TST INIFLG ;CHECK INITIALIZATION FLAG
.IJF NB <DHRVEC>
001160 001001 BNE VEC1 :IF NOT O, CHECK SMWITCHES
IFF ;FOR REINITIALIZATION
BNE BEGIN ;IF NOT O, START TEST
.ENDC
IF NB <>
SIZE: CLR RO
MOV #2%,804 ;SET UP TIME OUT RETURN
P8 TST (RO)-» ;WILL TRAP WHEN NO MEMORY : 9
BR 1 :LOCATION RESPONDED, CONTINUE
2¢: MOV RO ,HCORE ;RO CONTAINS ADDRESS OF
sus #2 ,HCORE :NON EXISTANT MEMQRY : 9
MOV #6 .844 ;RESTORE TRAPCATCHER

4
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001162

001164
001172
001174
001174
001200
001204
001210
001212
001214
001216
001220
001224
001226
001230
001232
001234
001236
001240
001242
001243
001244
001246
001250
001252
001254
001256
001260
001261

001262
001262
001270

001274
001300
001302

000404

032777
001445

012701
12702
012703
010211
005012
060301
060302
020127
001371
104403
020315
104405
000300
000770
020032

003

004
104403
020337
104405
000000
177776
020010

007

010

016767
005267

005767
001002
005167

000001

000300
000302
000004

001000

016540
016534

016602
016574

177606

016540

.ENDC
JOF NB <>
TRACER: MOV
SXT
MOV
BR
1%: MOV
MOV
MOV
.ENDC
.IF NB
IF B <>
BR

TST

BEQ
.ENDC
VEC1: BIT

BEQ
VEC2:
MOV
MOV
MOV
1$: MoV
CLR
ADD
ADD
CHpP
BNE

IFF

INSTR
MVECTOR
PARAM

300
770

DHRVEC

.BYTE 3
.BYTE 4

INSTR
MREGAD
PARAM

0
177776
DHSCR

.BYTE 7
.BYTE 10
.ENDC

JIF NB <1>

CODEM1

MOV
INC

TST
BNE
CoM

.ENDC

<DHRVEC>

#1%,.8410

RO
SRTT,TRTRET
4
ORTI,TRTRET
#12.9410
#TRTRET, 8416

VEC2

INIFLG
VEC2

45W00, BSUR
BEGIN

#300,R1
€302,R2
#4 ,R3
R2,(R1)
(R2)
R3.R1
R3.R2
R1,41000
1s

DHSSR, DHSLR
DHSLR

INIFLG
BEGIN
INIFLG

; PROGRAM START
;CHECK FOR PROGRAM START AT SELECTED ADDRESS

SEQ 23

;SET UP ILLEGAL INSTRUCTION TRAP RETURN
;D0 11740, 11/45 INSTRUCTION
:11/40,45 RTT RETURN FROM TRACE TRAP

:1105,10,20 RTI RETURN FROM TRACE TRAP
;RESTROE TRAPCATCHER
:SET UP TRACE TRAP VECTOR

; IF INITIALIZE FLAG=0
;GET VECTOR AND CSR ADDRESS

;IF SWO00=1, GET NEW VECTOR ; 4
:AND CSR
;i 4
; 4

;RESTORE TRAPCATCHER
:IN FLOATING VECTOR AREA

; INPUT ADDRESS OF DEVICE VECTOR
;MESSAGE “VECTOR ADDRESS-*

; CONVERT STRING TO OCTAL

;LOW LIMIT

;HIGH LIMIT i 3
;LOCATIONS TO BE FILLED

:NUMBER OF LOCATIONS

;LSB MASK

: INPUT ADDRESS OF DEVICE CSR
:MESSAGE “CONTROL REGISTER ADDRESS-*
; CONVERT STRING TO OCTAL

:LOW LIMIT

;HIGH LIMIT

:LOCATIONS TO BE FILLED

;NUMBER OF LOCATIONS

:LSB MASK

;SET UP ADDRESS OF SILO
;STATUS REGISTER HIGH BYTE

; IF INITIALIZATION FLAG
;IS CLEARED
:SET IT




SEQ 24
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001306
001314
001320
001326
001330
001332
001334
001336
001340
001342
001344
001345
001346
001350
001356
001362
001364
001370
001374
216 001400

001400
001400
001406
001414

001422
001430
001436

001442

001444
0014350
001450

001452
001456
001460
001466
001472
217 001474

012767
012706
032777
001410
104403
020526
104405
000000
017500
020050

001

001
000410
012767
005767
001004
005167
104401
000177

012767
012767
012767

000002
012737
012737
005777

000406
016705
104000
012716
000002
012737

005037
104400

000340
021544
000002

001400
016522

016574
020522
016450

000340
000100
001452

001444
000340
016346

016340

001460

000006
000006

176462 BEGIN:
177452

.BYTE
.BYTE

016472 1%:

2%:
3s:
RGADRS

MOV #340,PS ;:LOCK OUT INTERRUPTS

MOV #5TACK,SP ;SET UP PROCESSOR STACK

BIT #SW01, ISWR ;IF SWO1=1 )
BEQ 1$ ;GET PC FOR FROGRAM START

INSTR ;GET PC

HMTSTPC :MESSAGE "TEST PC”

gARAH ; CONVERT STRING TO OCTAL

17500

RETRN

1

1

BR 24

MOV #T1,RETRN :NORMAL START, TEST 1

TST STFLG ; IF LOOPING, BYPA_3 TYPEOQUT

BNE 3

COM STFLG

TYPE +MR ;TYPE “"R” TO INDICATE START

JMP SRETRN ;START TESTING i 3

t/SCR/,t/DH11 SYSTEM CONTROL/

;DH11 SYSTEM CONTROL REGISTER ADDRESSING TEST

:VERIFY THAT DH11 SYSTEM CONTROL REGISTER RESPONDS TO ADDRESSING

;IF DH11 SYSTEM CONTROL REGISTER DOES NOT RESPOND, A BUSS ERROR TRAP
;WILL OCCUR, AND AN ERROR MESSAGE WILL BE TYPED.

TS \XN,100,2¢

176370 Ti:
016442
016430

IF Nb

.ENDC
XN=XN+1

000004
000006

1s:

2s:
000004 3%:

RGADRS

MOV #340,PS ;DISABLE ALL INTERRUPTS

MOV €100, ICOUNT ;SET UP FOR 100 ITERATIONS

MOV #23 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST

<>

10V ¢.FREEZ1 ;SET UP TO LOOP WITH DATA i 3

MOV 414,804 :SET UP TIME OUT TRAP

MOV #340,846

TST 80HSCR ;ADDRESS DH11 SYSTEM CONTROL

;REGISTER

BR 34 iNO TRAP, REGISTER RESPONDS
:TO ADDRESSING

MoV DHSCR,R5 ;REGISTER DID NOT RESPOND

2;; 8 ; TIME OUT TRAP, DH11 SYSTEM CONTROL
;REGISTER DID NOT RESPOND

MOV #3%,(SP) ;:SET UP TO RETURN FROM TRAP

RTI :RETURN FROM TRAP

MOV 96,8¥4

CLR 806 ;RESTORE TRAP CATCHER

SCOPE ;CHETK FOR ITERATIONS, LOOP

t/NRC/,t/DH11 NEXT RECEIVED CHARACTER/

iDH11 NEXT RECEIVED CHARACTER REGISTER ADDRESSING TEST

{VERIFY THAT DH11 NEXT RECEIVED CHARACTER REGISTER RESPONDS TQ ADDRESSING

:IF DH11 NEXT RECEIVED CHARACTER REGISTER DOES NOT RESPOND, A BUSS ERROR TRAP
;WILL OCCUR, AND AN ERROR MESSAGE WILL BE TYPED.




CZOHA-D MACRO V04.00 27-JUN-85 12:46:01 PAGE 17-3

001474
001474
001502
001510

001516
001524
001532

001536

001%40
001544
0013544

001346
001532
001554
001562
001566

218 0C1370

001570
001570
001576
001604

001612
001620
001626

001632

001634
001640
001640

001642
00164¢€
001650
001636
001662
219 001664

012767
012767
012767

000003
012737
012737
005777

000406
016705
104000

012716
000002
012737
005037
104400

012767
012767
012767

000004
012737
012737
005777

000406
016705
104000
012716
000002
012737

0035037
104400

000340
000100
001546

001540
000340
016254

016246

001554

000006
000006

000340
000190
001642

001634
000340
016162

16154

001650

00000¢
000006

176274
016346
036334

000004
00006

000C04

176200
016252
016240

000004
000006

000004

TS \XN,100,2%

12;
JIF N8

.ENDC
XN=XN+1

14:

2%:
1%

RGADRS

TS \XN,100,2¢
13:

MOV 9340,PS
MOV €100, ICOUNT
MOV 92$ ,ESCAPE
<>

MOV &,FREEZ1
MOV 014,304
MOV #340,8%6
187 SDHNRC

BR 3

MoV DHNRC,RS5
HLT 0

EMT 0

MOV @3%,(SP)
RTI

MOV 96,904
CLR 306

SCOPE

t/LPR/,t/0H 11 LINE PARAMETER/

SEQ 25

;:OISABLE ALL INTERRUPTS
:SET UP FOR 100 ITERATIONS
;:SET UP TO ESCAPE TO NEXT TEST

;:SET UP TO LOOP WITH DATA i 3

;SET UP TIME OUT TRAP

;ADDRESS DH11 NEXT RECEIVED CHARACTER
:REGISTER

:NO TRAP, REGISTER RESPONDS

; TQO ADDRESSING

;REGISTER DOID NOT RESPOND

; TIME OUT TRAP, DH11 NEXT RECEIVED CHARACTER

;REGISTER DID NOT RESPOND
:SET UP TO RETURN FROM TRAP
;RETURN FROM TRAP

;RESTORE TRAP CATCHER
:CHECK FOR ITERATIONS, LOGP

;OH 11 LINE PARAMETER REGISTER ADDRESSING TEST

;VERIFY THAT DH 11 LINE PARAnRcTER REGISTER RESPONDS TO ADDRESSING

:IF DH 11 LINE PARAMETER REGISTER DOES NOT RESPOND, A BUSS ERROR TRAP
;WILL OCCUR, AND AN ERROR MESSAGE WILL BE TYPED.

MOV #340,PS
MOV 2100, ICOUNT
MoV #24 ,ESCAPE
IF N8 o
MOV #,FREEZL
.ENDC
XN=XN+1
MOV 41%,804
MOV ¢340,8%6
TS8T 80HLPR
BR 3
1$: MOV DHLPR,R5
HLT 0
EMT 0
2%: MOV 934,(5P)
; RTI
.38 MOV 6,804
CLR 806
SCCrE
RGADRS t/BA/,t/DH11 BUS ADDRESS/

;DISABLE ALL INTERRUPTS
:SET UP FOR 100 ITERATIONS
;SET UP TO ESCAPE TO NEXT TEST

;SET UP TO LOOP WITH DATA i 3

:SET UP TIME QUT TRAP

;ARDDRESS DH 11 LINE PARAMETER
:REGISTER

iNO TRAP, REGISTER RESPONDS

:TO ADDRESSING

;REGISTER DID NOT RESPOND

; TIME OUT TRAP, DH 11 LINE PARAMETER

;REGISTER DID NOT RESPOND
;SET UP TO RETURN FROM TRAP
;RETURN FROM TRAP

;RESTORE TRAP CATCHER
;CHECK FOR ITERATIONS, LOOP

;0H11 BUS ADDRESS REGISTER ADDRESSING TEST
;VERIFY THAT DH11 BUS ADDRESS REGISTER RESPONDS TO ADDRESSING
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SEQ 26

:IF DH11 BUS ADDRESS REGISTER DOES NOT RESPOND, A BUSS ERROR TRAP
;WILL OCCUR, AND AN ERRGR MESSAGE WILL BE TYPED.

001664 TS \XN,100,2¢
001664 012757 000340 176104 T4: MOV #340,PS :DISABLE ALL INTERRUPTS
001672 012767 000100 016156 MOV €100, ICOUNT :SET UP FOR 100 ITERATIONS
001700 012767 001736 016144 —— MOV @28 ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
) <>
ENDC MoV #,FREEZL ;SET UP TO LOOP WITH DATA ; 3
000005 XN=XN+1
001706 012737 001730 000004 MOV 14,804 ;SET UP TIME OUT TRAP
001714 012737 000340 000006 MOV #340,846
1722 005777 016070 157 80HBA ;ADDRESS DH11 BUS ADDRESS
;:REGISTER
001726 000406 BR 3 iNO TRAP, REGISTER RESPONDS
: TO ADDRESSINC
00173¢ 016705 016062 14: MoV DHBA ,R5 ;REGISTER DID NOT RESPOND
001734 HLY 0 : TIME OUT TRAP, DH11 BUS ADDRESS
001734 104000 EMT 0
;REGISTER DID NOT RESPOND
001736 012716 001744 2%: MOV #33,(5P) ;SET UP TO RETURN FROM TRAP
001742 000002 RTI ;RETURN FROM TRAP
0C1744 012737 000006 000004 3$: MOV 6,804
001752 005037 000006 CLR 806 ;RESTORE TRAP CATCHER
001756 104400 SCOPE ;CHECK FOR ITERATIONS, LOOP
220 001760 RGADRS +/8C/,t/DH11 BYTE COUNT/
;DH11 BYTE COUNT REGISTER ADDRESSING TEST
sVERIFY THAT DH11 BYTE COUNT REGISTER RESPONDS TO ADDRESSING
:1F DH11 BYTE COUNT REGISTER DOES NOT RESPOND, A BUSS ERROR TRAP
sWILL OCCUR, ANO AN ERROR MESSAGE WILL BE TYPED.
001760 TS \XN,100,24
001760 012767 000340 176010 T5: MOV ¢340,.PS ;DISABLE ALL INTERRUPTS
001766 012767 000100 016062 MOV €100, ICOUNT :SET UP FOR 100 ITERATIONS
001774 012767 002032 016050 IF N8 MOV 924 ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
ENDC MOV #,FREEZ21 ;SET UP TO LOOP WITH DATA i 3
000005 XN=XN«1
002002 012737 002024 000004 MoV 14,804 :SET UP TIME QUT TRAP
002010 012737 000340 000006 MOV 340,806
002016 005777 015776 TST7 S0HBC ;ADDRESS OH11 BYTE COUNT
:REGISTER
002022 000406 BR 3% iNO TRAP, REGISTER RESPONDS
s TO ADDRESSING
002024 016705 015770 1s: MOV OHBC RS {REGISTER DID NOT RESPOND -
002030 HLY 0 i TIME QUT TRAP, DH1l BYTE COUNT
002030 104000 EMT 0
:REGISTER DID NOT RESPOND
002032 012716 002040 2%: MOV #34,(5P) :SET UP TO RETURN FROM TRAP
002036 000002 RTI :RETURN FROM TRAP
002040 012737 000006 000004 3%: MOV % .,.90
002046 005037 000006 CLR 806 RESTORE TRAP CATCHER
002052 104400 SCOPE ;CHECK FOR ITERATIONS, LOOP
c21 002054 RGADRS ¢/BCR/,*t/DH1i BREAK CONTROL/
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222

002054
002054
002062
002070

002076
002104
002112

002116

00212¢
002124
002124

0C2126
002132
002134
002142
002146
002150

002150
002150
002156
002164

002172
002200
002206

002212

002214
002220
002220

002222
002226
002230

0127€7
012767
012767

000007
012737
012737
005777

000406
016705
104000

012716
000002
012737
005037
104400

012767
012767
012767

000010
012737
012737
005777

000406
016705
104000
012716

000002
012737

000340
000100
002126

002120
000340
015706

015700

002134

000006
000006

000340
000100
002222

002214
000340
015610

015602

002230
000006

175714
015766
015754

000004
000006

000004

175620
015672
015660

000004
000006

000004

:DH11 BREAK CONTROL REGISTER ADDRESSING TEST

:VERIFY THAT DHZ1 BREAK CONTROL REGISTER RESPONDS TO ADDRESSING

SEQ 27

:IF DH1l BREAK CONTROL REGISTER DOES NOT RESPOND, A BUSS ERROR TRAP

+WILL OCCUR, AND AN ERROR MESSAGE WILL BE TYPED.

TS \XN,100,2%

T6:

JIF N8

.ENDC
XN=XN+}

1s:

2%:
3s:

RGADRS

TS \XN,100,2%

T17:
JOF NB

.ENDC
XN=XN+1

1%:

2%:
3s:

MOV ¢340.PS ;DISABLE “LL INTERRUPTS
MOV €100, ITOUNT :SET UP F(? 100 ITERATIONS
MOV @23 ,ESCAPE ;SET UP TO £SCAPE TO NEXT TEST
<>
MOV ¢ ,FREEZL :SET UP TO LOOP WITH DATA : 3
MOV 013,304 iSET UP TIME OUT TRAP
MOV 340,846
TST 80HBCR ; ADDRESS DH11 BREAK CONTROL
sREGISTER
BR 3 iNO TRAP, REGISTER RESPONDS
;TO ADDRESSING
MOV DHBCR,RS tREGISTER DID NOT RESPOND
:h} g :TIME QUT TRAP, DH11 BREAK CONTROL
;REGISTER DID NOT RESPOND
MoV 3s,(5P) ;SET UP TO RETURN FROM TRAP
RTI ;RETURN FROM TRAP
MOV 6,304
CLR 806 sRESTORE TRAP CATCHER
SCOPE ;CHECK FOR ITERATIONS, LOOP
t/BAR/,t/BUS ACTIVE/
:BUS ACTIVE REGISTER ADDRESSING TEST
;VERIFY THAT BUS ACTIVE REGISTER RESPONDS TO ADDRESSING
;IF BUS ACTIVE REGISTER DOES NOT RESPOND., A BUSS ERROR TRAP
sWILL OCCUR, ANC AN ERROR MESSAGE WILL BE TYPED.
MOV €340,P5 ;DISABLE ALL INTERRUPTS
MOV €100, JCOUNT :SET UP FOR 100 ITERATIONS
MoV 923 ,ESCAPE ;SET UP TG ESCAPE TO NEXT TEST
<>
MoV ¢ FREEZL ;:SET UP TO LOOP WITH DATA : 3

MOV 415,804 ;SET UP TIME OUT TRAP

MOV 4340,96

1sT SOHBAR ; ADDORESS BUS ACTIVE
:REGISTER
BR 38 iNO TRAP, REGISTER RESPONDS

sTO ADDRESSING
MOV DHBAR, RS ;REGISTER DID NOT RESPOND
HLT 0 :TIME OUT TRAP, BUS ACTIVE

EMT Y

:REGISTER DIN NOT RESPOND
MOV 43%,(SP) ;SET UP TC REI'URN FROM TRAP
RTI ;RETURN FROM TRAPD
MOV 06,804




il

SEQ 28
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002236
Q02242
223 002244

002244
002244
002252
002260

002266
002274
002302

002306

0C2310
002314
002314

002316
002322
002324
002332
002336
224
225 002340

002340
002340
002346
002354

002362

002370
002376

002402

005037
104400

012767
012767
012767

000011
012737
012737
005777

000406
016705
104000
012716
000002
012737

005037
104400

012767
012767
012767

000012
012777

052777
017704

005704

000006

000340
000100
002316

002310
000340
015520

015512

002324

000006
000006

000340
004000
002416

173777

004000
015406

175524
015576
015564

000004
000006

000004

175430
015502
015470

015420
015412

RGADRS

CLR 806 :RESTORE TRAP CATCHER
SCOPE :CHECK FOR ITERATIONS, LOOP
t/SSR/,t/SILO STATUS/

$SILO STATUS REGISTER ADDRESSING TEST

s VERIFY THAT SILO STATUS REGISTER RESPONDS TO ADDRESSING

:IF SILO STATUS REGISTER DOES NOT RESPOND, A BUSS ERROR TPAP
sWILL OCCUR, AND AN ERROR MESSAGE WILL BE TYPED.

TS \XN,100,2¢$

T10:

.IF N8
.ENDC

XN=XN+1

is:

2%:
34

REGTSS

MOV 0340,PS ;OISABLE ALL INTERRUPTS
MOV €100, ICOUNT ;SET UP FOR 100 ITERATIONS
MOV 223 ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST

<>

MOV 4.FREEZ1 ;SET UP TO LOOP WITH DATA ; 3

MOV 018,004 ;SET UP TIME OUT TRAP

MOV 9340,806

187 SDHSSR ; ADDRESS SILO STATUS

;:REGISTER

BR 3s ;NO TRAP, REGISTER RESPONDS
;TO ADDRESSING

MOV DHSSR, RS :REGISTER DID NOT RESPOND

Eh} g ;TIME OUT TRAP, SILO STATUS
:REGISTER DID NOT RESPOND

MOV 93s,(5P) ;SET UP TO RETURN FROM TRAP

RTI ;RETURN FROM TRAP

MOV 6 .84

CLR 806 ;RESTORE TRAP CATCHER

SCOPE sCHECK FOR ITERATIONS, P

t/SYSTEM CONTROL/, t/DHSCR/ , 173777

;MASTER CLEAR TEST

:SET SYSTEM CONTROL REGISTER TO 'CDATA‘
;:ISSUE MASTER CLEAR

;VERIFY THAT SYSTEM CONTROL WAS CLEARED

TS \XN,4000,1$

Ti1:

.IF NB

.ENDC
XN=XN+1

.IF NB
.ENDC

MOV #340,PS ;:DISABLE ALL INTERRUPTS

MOV #4000, ICOUNT ;SET UP FOR 4000 ITERATIONS
MOV 1% ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
13

MoV &,FREEZ) :SET UP TO LOOP WITH DATA : 3
MOV #173777,80HSCR iSET SYSTEM CONTROL REGISTER
170 173777

; ISSUE MASTER CLEAR

:(R4)=ACTUAL DATA IN
:SYSTEM CONTROL REGISTER

<>

BIC &.R4 ;CLEAR UNWANTED BITS

TST R4 :VERIFY THAT SYSTEM CONTROL REGISTER

BIS ®BIT11,80HSCR
MOV 80HSCR R4
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002404
002406

002410
002414
002414
002416
226 002420

002420
002420
002426
002434

0C2442

002450
002456

002462

002464
002466

002470
002474
002474
002476
227 0025¢C

002500
002500
002506
002514

002522

001404
005005

016703

104005
104400

012767
012767
012767

000013
012777

0S2777
017704

005704

001404
015005

016702

104005
104400

012767
012767
012767

000014
012777

015374

000340
004000
002476

17771

004000
015332

015320

000340
004000
002556

177777

175350
015422
015410

015344
015332

175270
015342
015330

015274

BEQ
CLR

MOV

HLT

EMT
1%: SCOPE

13
RS

DHSCR,R3
S
5

SEQ 29

iWAS CLEARED

;(R5)=EXPECTED DATA IN
:SYSTEM CONTROL REGISTER, 0

;GET REGISTER ADDRESS
;MASTER CLEAR FAILED

;CHECK FOR ITERATIONS, LOOP

REGTSS +/LINE PARAMETER/,t/DHLPR/,177777

sMASTER CLEAR TEST
:SET LINE PARAMETER REGISTER TO 'CDATA’
1ISSUE MASTER CLEAR
:VERIFY THAT LINE PARAMETER WAS CLEARED

TS \XN,4000,1$
T12: MoV
MOV
MOV
JIF N8B

MoV
.ENDC
XN=XN+1

MOV

8IS
MOV

JdF N o

8IC
.ENDC
TST

8£Q
CLR

MOV

HLT

ENT
1%: SCOPE

€340,PS
€4000, ICOUNT
@1%,ESCAPE

¢.FREEZ]

@177777,9DHLPR
#IT11,8DHSCR
S0HLPR R4

&.R4

R4

1%
RS

DHLPR,R3
5
5

:DISABLE ALL INTERRUPTS
;SET UP FOR 4000 ITERATIONS
:SET UP TO ESCAPE TO NEXT TEST

:SET UP TO LOOP WITH DATA i 3

;SET LINE PARAMETER REGISTER
$10 177777

; ISSUE MASTER CLEAR

; (R8)=ACTUAL DATA IN

;LINE PARAMETER REGISTER

;CLEAR UNMANTED BITS

;VERIFY THAT LINE PARAMETER REGISTER
iMAS CLEARED

; (RS )=EXPECTED DATA IN

;LINE PARAMETER REGISTER, 0
:GET REGISTER ADDRESS

:MASTER CLEAR FAILED

;CHECK FOR ITERATIONS, LOOP

REGTSS t/BREAK CONTROL/.t/DHBCR/,177777

:MASTER CLEAR TYEST
;SET BREAK CONTROL REGISTER TO ‘' CDATA’
:ISSUE HASTER CLEAR
:VERIFY THAT BREAK CONTROL WAS CLEARED

TS \XN,4000,1%

T13: MOV
MOV
MOV
.IF NB <>
MOV
.ENDC
XN=XN+1
MOV

4340,P5
#4000, ICOUNT
@14 ,ESCAPE

4,FREEZ]

@177777,890MBCR

;:DISABLE ALL INTERRUPTS
iSET UP FOR 4000 ITERATIONS
:SET UP TO ESCAPE TO NEXT TEST

;SET UP TO LOOP WITH DATA i 3

:SET BREAK CONTROL REGISTER
{70 1777177




002542

002544
002546

002550
002554
002554
002556
228 002560

002560
0C2560
002566
002574

002602

002610
002616

002622
002626

002630
002632

002634
002640
002640
002642
229 002644

002644
002644

002530 032777
002536 017704

005704

001404
005005

016703

104005
104400

012767
012767
012767

000015
012777

052777
017704
042704
005704

001404
005005

016703

104005
104400

012767

SEQ 30
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004000 015252 BIS #BIT11,8DHSCR ;ISSUE MASTER CLEAR
015262 MOV 20HBCR ,R4 ; (R4 }sACTUAL DATA IN
;BREAK CONTROL REGISTER
.AIF NB o
ENDC BIC #,R4 ;CLEAR UNWANTED BITS
1S7T R4 ;VERIFY THAT BREAK CONTROL REGISTER
;WAS CLEARED
BEQ 14
CLR RS ;(RS)=EXPECTED DATA IN
:BREAK CONTROL REGISTER, ©
015250 MOV DHBCR,R3 :GET REGLSTER ADDRESS
:h} g ;sMASTER CLEAR FAILED
1$: SCOPE ;CHECK FOR ITERATIONS, L0OP
REGTSS t/SILO STATUS/,t/DHSSR/,100077.77700
;MASTER CLEAR TEST
:SET SILO STATUS REGISTER TO 'CDATA'
;ISSUE MASTER CLEAR
sVERIFY THAT SILO STATUS WAS CLEARED
TS \XN,4000,.1¢
000340 175210 Ti4: MOV €340 ,PS ;DISABLE ALL INTERRUPTS
004000 015262 MOV 4000, ICOUNT ;SET UP FOR 4000 ITERATIONS
002642 015250 — MOV 013 ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
MOV ¢.FREE2Y tSET UP TO LOOP WITH DATA : 3
.ENDC
AN=XN+1
100077 015216 MOV 2100077, GDHSSR :¥§T1335975TATUS REGISTER
:
004000 015172 BIS #B1IT711,80H5CR 1ISSUE MASTER CLEAR
015204 Mmav SOHSSR R4 :(RQ)=ACTUAL DATA IN
:SILO STATUS REGISTER
JIF NB  <77700>
077700 ENOC 8IC @TTTO0.R4 ;:CLEAR UNYANTED BITS
157 R4 s VERIFY THAT SILO STATUS REGISTER
;WAS CLEAREOD
eEQ 1
CLR RS i(RS)=EXPECTED OATA IN
:SIL0 STATUS REGISTER, O
015166 MOV DHSSR RS :GET REGISTER ADDRESS
T g ;MASTER CLEAR FAILED
EMT
1%: SCOPE ;CHECK FOR ITERATIONS, LOOP
REGTSL t/LINE SELECY BIT 0/.BIT00
;SYSTEM CONTROL REGISTER WRITE/READ TEST (NORMAL MODE)
;SET LINE SELECT 8IT O IN SYSTEM CONTROL REGISTER
;VERIFY THAT LINE SELECT 8IT O WAS SETY
;:CLEAR LINE SELECT BIT O
sVERITY THAT LINE SELECT BIT O WAS CLEARED
TS \XN,4000,2%
000340 175124 T15: MOV 4340 ,PS :DISABLE ALL INTERRUPTS

b
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002652
002660

002666
002672
002676
002702
002704

002710

002712
002712

002714
002720
002722

002724

002726
002726

002730
230 002732

002732
002732
002740
002746

002754
002760
002764
002770
002772

002776

003000
003000

003002

012767
012767

000016
016703
012713
022713
001404
012705

011304

104001
042713
001403
005005

011304

104001
104400

012767
012767
012767

000017
016703
012713
022713
001404
012705

011304

104001
042713

004000 015176
002730 015164

015116
000001
000001

000001

000001

000340
004000
003016

015030
000002
000002

000002

000002

175036
015110
015076

MOV 44000, ICOUNT
MOV %24 ,ESCAPE

JJF NB <
MOV & ,FREEZA
.ENDC
XN=XN+1
MOV DHSCR,R3
MOV MBIT00,(R3)
CMP #8ITO0O,(R3)
BEQ 1s
MOV #81T00,RS
MOV (R3),.R4
HLT 1
EMT 1
1s:. BIC #M1IT00,(R3)
BEQ 28
CLR RS
MOV (R3),R4
HLT 1
EMT 1
2%: SCOPE

REGTS1 +/LINE SELECT BIT 1/,81IT01

SEQ 31

:SET UP FOR 4000 ITERATIONS
1SET UP TO ESCAPE TO NEXT TEST

;SET UP TO LOOP WITH DATA HI

+PUT ADDRESS OF SYSTEM CONTROL REGISTER IN R3
;SET LINE SELECT BIT O
; VERIFY THAT LINE SELECT BIT O WAS SET

:(R5)= EXPECTED VALUE

+IN SYSTEM CONTROL REGISTER
iLINE SELECT BIT O
:(R4)=ACTUAL DATA IN
;SYSTEM CONTROL REGISTER
;SYSTEM CONTROL REGISTER

;sWRITE/READ ERROR
;:CLEAR LINE SELECT BIT O

;(R5)=EXPECTED DATA IN
;SYSTEM CONTROL REGISTER, O
s (RA)=ACTUAL DATA IN
3SYSTEM CONTROL REGISTER
YSTEM CONTROL REGISTER

RITE/READ ERROR
HECK FOR ITERATIONS, LOOP

;:SYSTEM CONTROL REGISTER WRITE/READ TEST (NORMAL MODE)
;SET LINE SELECT BIT 1 IN SYSTEM CONTROL REGISTER
;VERIFY THAT LINE SELECT BIT 1 WAS SET

;CLEAR LINE SELECT BIT 1

sVERITY THAT LINE SELECT BIT 1 WAS CLEARED

1S5 \XN,4000,2%

T16: MOV #340,PS
MoV #4000, ICOUNT
MOV 023 ,ESCAPE

JIF N8 o
MOV ¢,FREEZ}
.ENOC
XN=XN+1
MOV DMSCR,R3
MOV #8IT01,(R3)
cnp ®BIT01,(R3)
BEQ 1
MOV #BITO1.RS
MOV (R3).R4
HLT 1
EMT 1
14: BIC #BIT01,(R3)

:DISABLE ALL INTERRUPTS
:SET UP FOR 4000 ITERATIONS
:SET UP TO ESCAPE TO NEXT TEST

;SET UP TO LOOP WITH DATA K

;PUT ADDRESS OF SYSTEM CONTROL REGISTER IN R3
:SET LINE SELECT BIT 1
iVERIFY THAT LINE SELECT BIT 1 MWAS SET

:(R3)= EXPECTED VALUE

;:IN SYSTEM CONTROL REGISTER
:LINE SELECT BIT 1

; (R4)=ACTUAL DATA IN
;SYSTEM CONTROL REGISTER
;SYSTEM CONTROL REGISTER

{WRITE/READ ERROR
;:CLEAR LINE SELECT BIT 1




003006 001403
003010 005005

003012 011304

003014
003014 104001

003016 104400
231 003020

003020

003020 012767
003026 012767
003034 012767

000020
003042 016703
003046 012713
003052 022713
003056 001404
003060 012705

003064 011304

003066
003066 104001

003070 042713
003074 001403
003076 005005
003100 011304

003102
003102 104001

003104 104400
232 003106

003106
003106 012767

000340 174750
004000 015022
003104 015010

014742
000004
000004

000004

000004

2%:
REGTS1
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BEQ 23

CLR RS ; (RS)=EXPECTED DATA IN
;SYSTEM CONTROL REGISTER, 0O

MOV (R3).R4 : (R4)=ACTUAL DATA IN
;SYSTEM CONTROL REGISTER

2#; i ;SYSTEM CONTROL REGISTER
;WRITE/READ ERROR

SCOPE :CHECK FOR ITERATIONS, LOOP

t/LINE SELECT BIT 2/,81T02

:SYSTEM CONTROL REGISTER WRITE/READ TEST (NORMAL MODE)
;SET LINE SELECT BIT 2 IN SYSTEM CONTROL REGISTER
;VERIFY THAT LINE SELECT BIT 2 WAS SET

;CLEAR LINE SELECT BIT 2

:VERITY THAT LINE SELECT BIT 2 WAS CLEARED

TS \XN,4000,24

T17:

.IF NB

.ENDC
XN=XN+1

1s:

2%:
REGTS1

MOV 4#340,P5 ;DISABLE ALL INTERRUPTS

MOV 4000, ICOUNT ;SET UP FOR 4000 ITERATIONS

MOV 024 ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST

<>

MOV ¢, FREEZL ;:SET UP TO LOOP WITH DATA ; 3

MOV DHSCR,R3 ;PUT ADDRESS OF SYSTEM CONTROL REGISTER IN R3
MOV 98IT02,(R3) ;SET LINE SELECT BIT 2

ggg :gITOZ.(RB) ;VERIFY THAT LINE SELECT BIT 2 WAS SET

MOV MITO2,RS ;(R5)= EXPECTED VALUE

:IN SYSTEM CONTROL REGISTER

;LINE SELECT BIT 2

MOV (R3).R4 :(R&)=ACTUAL DATA IN
;SYSTEM CONTROL REGISTER

Eh; i ;SYSTEM CONTROL REGISTER
:HRITE/READ ERROR

gég ;ngO?.(RS) ;CLEAR LINE SELECT BIT 2

CLR RS :(RS)=EXPECTED DATA IN
:SYSTEM CONTROL REGISTER, O

MoV (R3),R4 ; (RA)=ACTUAL DATA IN
:SYSTEM CONTROL REGISTER

EL} 1 ;:SYSTEM CONTROL REGISTER

M i

;WRITE/READ ERROR

SCOPE ;:CHECK FOR ITERATIONS, LOOP

t/LINE SELECT BIT 3/,BITO3

;SYSTEM CONTROL. REGISTER WRITE/READ TEST (NORMAL MODE)
;SET LINE SELECT BIT 3 IN SYSTEM CONTROL REGISTER
:VERIFY THAT LINE SELECT BIT 3 WAS SET

;CLEAR LINE SELECT BIT 3

;VERITY THAT LINE SELECT BIT 3 WAS CLEARED

TS \XN,4000,2$
000340 174662 T20:

MOV ¢340,PS :DISABLE ALL INTERRUPTS

SEQ 3¢
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003114 012767 004000 014734
003122 012767 003172 014722

003130
003134
003140
003144
003146

003152

003154
003154

003156
003162
003164

003166

003170
003170

003172
233 003174

003174
003174
003202
003210

003216
003222
003226
003232
003234

003240

003242
003242

003244

000021
016703
012713
022713
001404
012705

011304

104001
042713
001403
005005

011304

104001
104400

012767
012767
012767

000C22
016703
012713
022713
001404
012705

011304

104001
042713

014654
000010
0CI010

000010

000010

000340
004000
003260

014566
050020
000920

000020

000020

174574
014646
014634

SEQ 33

MOV #4000, ICOUNT ;SET UP FOR 4000 ITERATIONS
F Ne MOV 2% ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
i <>
MOV #,.FREEZL :SET UP TO LOOP WITH DATA : 3
.ENDC
XN=XN.1
MOV DHSCR,R3 ;PUT ADDRESS OF SYSTEM CONTROL REGISTER IN R3
MOV #81IT03,(R3) ;SET LINE SELECT BIT 3
ggg :gITO3.(R3) ;VERIFY THAT LINE SFIECT BIT 3 WAS SET
MoV BITO03.R5 ;(RS)= EXPECTED VALUE
;IN SYSTEM CONTROL REGISTER
;LINE SELECT BIT 3
MOV (R3),R4 i (R4)=ACTUAL DATA IN
;SYSTEM CONTROL REGISTER
EL} 1 ;SYSTEM CONTROL REGISTER
M 1
tWRITE/READ ERROR
13: gég ;BIT03.(R3) sCLEAR LINE SELECT BIT 3
$
CLR RS s (R5)=EXPECTED DATA IN
;SYSTEM CONTROL REGISTER, 0
MoV (R3).R4 :(R4)=ACTUAL DATA IN
;:SYSTEM CONTROL REGISTER
QL; 1 ;:SYSTEM CONTROL REGISTER
M 1
;WRITE/READ ERROR
2%: SCOPE ;:CHECK FOR ITERATIONS, LOOP

REGTS1 +/MEMUPY EXTENS1ON BIT 0/,8IT04

:SYSTEM CONTROL REGISTER WRITE/READ TEST (NORMAL MODE)
;SET MEMORY EXTENSION BIT O IN SYSTEM CONTROL REGISTER
; VERIFY THAT MEMORY EXTENSION BIT O WAS SET

;CLEAR MEMORY EXTENSION BIT ©

:VERITY THAT MEMORY EXTENSION BIT O WAS CLEARED

TS \XN,4000,24

T21: MOV €340 ,PS ;DISABLE ALL INTERRUPTS
MOV #4000, ICOUNT :SET UP FOR 4000 ITERATIONS
MOV 924 ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
JF B o
MOV ¢ .FREEZ1 ;SET UP TO LOOP MITK DATA : 3
EHDC
=XN+1
MOV DHSCR,R3 ;PUT ADDRESS OF SYSTEM CONTROL REGISTER IN R3
MOV #BIT04,(R3) iSET MEMORY EXTENSION BIT O
cHp 481704 ,(R3) ;VERIFY THAT MEMORY EXTENSION BIT O WAS SET
BEQ 13
MOV #BITO04,RS ;(RS5)= EXPECTED VALUE
;:IN SYSTEM CONTROL REGISTER
:MEMORY EXTENSION BIY O
MOV (R3).R4 ;(R4)=ACTUAL DATA IN
;SYSTEM CONTROL REGISTER
HLT 1 ;SYSTEM CONTROL REGISTER
EMT 1
;WRITE/READ ERROR
1%: BIC #BIT04,(R3) ;CLEAR MEMORY EXTENSION BIT O
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003250
003252

003254

003256
003256

003260
234 003262

003262
003262
003270
003276

003304
003310
003314
003320
003322

002326

003330
003330

003332
003336
003340
003342

003344
003344

003346
235 003350

003350
003350

001403
005005

011304

104001
104400

012767
012767
012767

000023
016703
012713
022713
001404
012705

011304

104001
042713
001403
005005

011304

104001
104400

012767

B8EQ 24

CLR RS ; (R5)=EXPECTED DATA IN
iSYSTEM CONTROL REGISTER, 0

MOV (R3),R4 i (R4)=ACTUAL DATA IN
;SYSTEM CONTROL REGISTER

gh} i ;:SYSTEM CONTROL REGISTER
;WRITE/READ ERROR

24: SCOPE ;CHECK FOR ITERATIONS, LOOP

REGTS1 t/MEMORY EXTENSION BIT 1/,BITO0S

:SYSTEM CONTROL REGISTER WRITE/READ TEST (NORMAL MODE)
;SET MEMORY EXTENSION BIT 1 IN SYSTEM CONTROL REGISTER
;: VERIFY THAT MEMORY EXTENSION BIT 1 WAS SET

;CLEAR MEMORY EXTENSION BIT 1

s VERITY THAT MEMORY EXTENSION BIT 1 WAS CLEARED

TS \XN,4000,2%

000340 174506 T22: MOV 4340,PS ;:DISABLE ALL INTERRUPTS
004000 0145690 MOV 44000, ICOUNT ;SET UP FOR 4000 ITERATIONS
003346 014546 IF NG MOV 2% ,ESCAPE ;SET UP TO ESCAPE TO NEXT TEST
. <>
MOV ¢,.FREEZ1 ;SET UP TO LOOP WITH DATA ; 3
.ENDC
XN=XNe1
014500 MOV OHSCR,R3 :PUT ADDRESS OF SYSTEM CONTROL REGISTER IN R3
000040 MOV €81705,(R3) ;SET MEMORY EXTENSION BIT 1
000040 gg: #8IT05,(R3) ;VERIFY THAT MEMORY EXTENSION BIT 1 WAS SET
1$
000040 MOV #B8IT05.RS ;(RS)= EXPECTED VALUE
;IN . STEM CONTROL REGISTER
;HEMORY EXTENSION BIT 1
MOV (R3).R4 ;(R&)=ACTUAL DATA IN
:SYST"H CONTROL REGISTER
gh; i ;SYS1..M CONTROL REGISTER
:WRITE/READ ERROR
000040 1%: gég gngOS.(RS) ;CLEAR MEMORY EXTENSION BIT 1
CLR RS s(RS)=EXPECTED DATA IN
i SYSTEM CONTROL REGISTER, O
MOV (R3),R4 :{R4)=ACTUAL DATA IN
;SYSTEM CONTROL REGISTER
2%; 1 ;SYSTEM CONTROL REGISTER
1
iWRITE/READ ERROR
23: SCOPE ;CHECK FOR ITERATIONS, LOOP
REGTS1 +/RECEIVER INTERRUPT ENABLE/,BITO06
:SYSTEM CONTROL REGISTER WRITE/READ TEST (NORMAL MODE)
;SET RECEIVER INTERRUPT ENABLE IN SYSTEM CONTROL REGISTER
;VERIFY THAT RECEIVER INTERRUPT ENABLE WAS SET
;CLEAR RECEIVER INTERRUPT ENABLE
;VERITY THAT RECEIVER IMTERRUPT ENABLE WAS CLEARED
TS \XN,4000,2$
000340 174420 T23: MOV #340,PS :DISABLE ALL INTERRUPTS
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SEQ 35

003356 012767 004000 014472 MOV #4000, ICOUNT :SET UP FOR 4000 ITERATIONS
003364 012767 003434 014160 IF B MOV 2% ,ESCAPE :SET UP TO ESCAPE TO NEXT TEST
. '3
ENGF MOV &, FREEZ1 iSET UP 70 LOOP WITH DATA i 3
.ENCT
000024 XN=XN«1
003372 016703 014412 MOV DHSCR,R3 :PUT ADDRESS OF SYSTEM CONTROL REGISTER IN R3
003376 012713 000100 MOV #81706,(R3) +SET RECEIVER INTERRUPT ENABLE
003402 022713 000100 CHP #81706,(R3D ;VERIFY THAT RECEIVER INTERRUPT ENABLE WAS SET
003406 001404 BEQ 1$
003410 012705 000100 MOV #B8IT06,RS i(R5)= EXPECTED VALUE
;IN SYSTEM CONTROL REGISTER
;RECEIVER INTERRUPT ENABLE
003414 011304 MOV (R3).R4 i (R4)=ACTUAL DATA IN
:SYSTEM CONTROL REGISTER
003416 HLT 1 :SYSTEM CONTROL REGISTER
003416 104001 EMT 1
;WRITE/READ ERROR
003420 042713 000100 1$: 8IC 481T06,(R3) ;CLEAR RECEIVER INTERRUPT ENABLE
003424 001403 8EQ 28
003426 005005 CLR RS :(RS)=EXPECTED DATA IN
;SYSTEM CONTROL REGISTER, O
003430 011304 MOV (R3).R4 : (R4)=ACTUAL DATA IN
;:SYSTEM CONTROL REGISTER
003432 HLT 1 :SYSTEM CONTROL REGISTER
003432 104001 EMT 1
;WRITE/READ ERROR
003434 104400 2$: SCOPE ;CHECK FOR ITERATIONS, LOOP
236 003436 REGTS1 +/MAINTENANCE MODE/,BIT09

;SYSTEM CONTROL REGISTER WRITE/READ TEST (NORMAL MOOE)
; SET MAINTENANCE MODE IN SYSTEM CONTROL REGISTER
sVERIFY THAT MAINTENANCE MODE MWAS SET

;CLEAR MAINTENANCE MODE

;VERITY THAT MAINTENANCE MODE MWAS CLEARED

003436 TS \XN,4000,2%
003436 012767 000340 174332 T24: MOV #340,PS ;DISABLE ALL INTERRUPTS
003444 012767 004000 014404 MOV #4000, ICOUNT ;SET UP FOR 4000 ITERATIONS
003452 012767 003522 014372 F N8 MOV 924 ,ESCAPE ;SET UP TO ESCAPE TO NEXY TEST
<>
ENoC MOV &.FREEZL ;:SET UP TO LOOP WITH DATA : 3
000025 XN=XN+1

003460 016703 014324 HovV DHSCR,R3 :PUT ADORESS OF SYSTEM CONTROL REGISTER IN R3
003464 012713 001000 MOV 681709,(R3) :SET MAINTENANCE MODE
003470 022713 001000 np BIT09,.(R3) iVERIFY THAT MAINTENANCE MODE WAS SET
003474 001404 BEQ 14
003476 012705 001000 MoV #81T09,RS ;(RS)= EXPECTED VALUE

;IN SYSTEM CONTROL REGISTER

i MAINTENANCE MODE
003502 011304 MOV (R3).R4 ;(R4)=ACTUAL DATA IN

:SYSTEM CONTROL REGISTER
003504 HLY 1 1SYSTEM CONTROL REGISTER
003504 104001 EMT 1

{WRITE/READ ERROR
003506 042713 001000 1s: 8IC @81709,(R3) ;CLEAR MAINTENANCE MODE
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003512
003514

003516

003520
003520

003522
237 003524

003524
003524
003532
003540

003546
003552
003556
003562
003564

003570

003572
003572

003574
003600
003602
003604

003606
003606

003610
238 003612

003612
003612

001403
005005

011304

104001
104400

012767
012767
012767

000026
016703
012713
022713
001404
012705

011304

104001
042713
001403
005005

011304

104001
104400

012767

BEQ 2